Chiffres Romains (I)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMMCMXXX = 3930 MMMCCCLVI =
MCLXXVII = MMMCCIX =
MMMDCCXC = MMMCMXXVIII =
MMMDCCCXXX = MMCCLV =
MMDCCLXII = MMMCCCLVII =

MMCCLXXI = 2271 = 2703

= 2950 = 1497

= 1433 = 1768

= 2516 = 3068

= 1890 = 3118
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Chiffres Romains (I) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMMCMXXX

MCLXXVIII

MMMDCCXC

MMMDCCCXXX

MMDCCLXII

MMCCLXXI

MMLM

MCDXXXIII

MMDXVI

MDCCCXC

3790

2271

2950

1433

2516

1890

3930

1178

3830

2762

MMMCCCLVI

MMMCCIX

MMMCMXXVIII

MMCCLV

MMMCCCLVII

MMDCCIII

MVDII

MDCCLXVIII

MMMLXVIII

MMMCXVIII

3356

3209

3928

2255

3357

2703

1497

1768

3068

3118
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